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1.Validity of information:depends on,
a. Timeliness and meaningfulness.
b. Completeness and interconnectivity.
¢.'Accuracy and ability to communicate.
Which of the foliowmg is true? : R IR PP A
(I)aandb (2 a and c (3) band ¢ (4) All of the above.,
2.Which one of the following contains information? '
(1) Color of a bag (2) Weight of a student
(3) Weather report of tomorrow . - (4) Price of a mobile phone
3.Sayuri gives two banglés and one red colour hand bag to Pnyam” In this statement “two bangles and
red colour hand bag” are respectively examples of.. o
(1) Quantitative data 7 @) Qualitative data
(3) Quantitative data &Qualitative data

4 Qualitative data & Quantitative data
4.IBM PCs, Microprocessors, op

erating systems with GUI are mostly related with,

H Ist Generation computers 2) 2 “Generation computers

(3) 3"Generation computers ' 4) 4™ Gcneratlon computers

5. A very small computer that can be held on the palm of a person is called
(1) Laptop (2) PDA

(3) Micro Computer (4) Personnel éomputer
6. Which of the followmg Is a type of impact prmter‘? '
(1) Inkjet printer A r o . (2) Daisywheel prmter
(3 Laser prmter - e '

(4) Bubble _]Ct p”nter PRSI
7. In the Windows operatin o system, de

leted files are temporardy stored in
(1) Recycle Bin

(2) My Computer - G)My Documems S

(4) Task Bar
8. Examples for input device, output device and storage device respectlvely are, \
(1) Microphone, Speaker and CD (2) Speaker Prmter and DVD
(3) Keyboard, Printer and plotter "
.9. Which of the following is/are false?
- A. Plotter is an output device.
B. Joystick is an output device
C. CD s a storage device

(DAonly  * (2)Bonly (3) BC only (®AllA BandC
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- 10. Which shows the correct classification of computers, according io “Technology™?
¢} Lapuop computers, Super computers, Server computers. :
(2) Digital computers, Analog computers, Hybrid com puters. T
(3 Main 7 rr&me computers, Mini computers, Microcomputers.
(4) General Purpose Ccumpuiers, Special purpose cosmputers

11, Which of the following is NOT a scanning technology device?
(i) OCR (2) OMR (3) Optical Mouse  (4) Barcode Reader

<

12 Identify the port that a modern mouse can be connectéd, —
(1) Network port (2) USB Port (3) VGA port (4) Parallel port

13. Telephone communication can be considered as examples .................

communication.
(1)Simplex . (2) Half duplex (3) Full duplex (4) Communication
- 14. What does modem stand for?
(1) Magnetic Only Demodulator . . (2) Memory Demodulator
(3) Modulator — Demodulator (4) Magnetic Of Demodulator

15. Whatisa disadvantage of a computer network?
(1) Speed of sharing data (2) Open to hackers
(3) Controlling software management (4) Cost of individual license copies

16. Whét is the topology of the computer network shown in the following figure? ‘

()Bus (2)Ring (3) Star @ Mesh

. 17. What hardware/software is ﬂeeded to prevent unauthorized access 10 a network?
) A modem - . (2) A firewall (3) A gateway (4) A router

18. Large computer ﬁles can be compressed before stormo them. Which one of the Fo'low'ng is the
usual reason for doing that? ‘ .

(1) Make it more difficult for hackers to read

(2) To reduce the storage space needed

(3) To add more security to the file

(4) To prevent unauthorized access

19. A nibble is equal to

(1) 1 bit '(2). 2 bits @3bits (@) 4bits
20. lAGigabyte is equivalent 0 |
(1) 1000MB (2) 1024x1024bits

(3) 1024x1024x1024 bytes . (4)1000x1024 KB
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21. Consider the following statermnents shout Unicod
A-Jt can represent 128 characters.
B-It can be used in internet web pages and online newspapers,
C-Each character has 2 unique value.

~ Which of the above statement(s) is/are true?

(I)Aonly .~ (2) Bonly (3) A &B only (4yB&C only
- 22. Which of the following represents the BCD value of 657
(1) 110101, (2) 101110, ~ (3)01100101, (4) 1010110,
23. Which of the following represents ASCII “H™, if “G” is represented by 10001 | 127
(1) 1000110, = (2) 1001000, (3) 1001001, (4) 1001011,
24.The binary equivalent of'the octal number 54g4is,
(Hoiwtit, () 100111, ) (3) 101100, . (9101101,
25.The value ofE3¢ is equivalent to,
(1) 226 1o (2)22710 (3)228;p (4)327
; 26.Which one of the following values is not equivalent to 2CB¢? :
(1) 71540 (2) 1011001011,  (3)13134 (4) 5673
27.P=1101,and Q =111, The value of P+Qis
¢)) 10100, (2) 10110,
(3 1100, : (4) - 11000,

28. Kumara is studying in A/Ls. He can select physics with Chefriiétx'y, or ICT for his A/L subjects.
What are the gates that represent above scenario? AN Co

(1) AND & after OR (2) OR and after AND

(3) OR & after OR (4) AND & after AND

+

29.The following is a truth table of a certain logic gate that has 2 mputsihe]oglc gate is

A B | Output | I
0 0 1
0 I bl
1 6.y i
1 1 0
(I)NAND _ (2) AND. - (3)NOT (4) NOR

30. Why we use Ctrl + Z in application software?
(1) To copy a text,
(2) To paste a copicd text.
(3) To ;ielete a text.
(4) Toundo. |
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31. The computer network of “Sankalpa™ allows many users to connect to the server computer
and to work. The cperati -g system of this network is... .
(1Y Multiuser (2} Multi-processing {3) Muiti-tasKing {4} On-iine
L4

32. Which of the foliowing is/are function(s) of an operating system,
A-Providing interface between user and hardware
B-Allocating memory needed to run software
C-Administering/ managing of computer process '

«

(1) A only (2)B and C only - (3C - (4 AlABand C
: 33.In Word processing, when you want to view multiple pages at onée, you would use

(1) Print preview _ (2) Normal view

(3) Page layout view , (4) Outline view

- 34.In Word processing software, what is the shortcut to find out an item (a word) in a document..
(1) Alt+S . (2) Ctrl +C . (3)Cul +F (4) Cirl +8

35.InWord processing software, One has repeatedly miss-spelt the. word “Sun™ as “Son”. Which of
the followmg is suitable to correct it

(1)  Delete and Re-type (3) Find and Replace
) Auto correct (4) Spelling and Grammar.

36. Which of the following is true about spreadsheet software?
(1) A cell address is an intersection of a row and a column.
(2) Labels are aligned to the right side of a cell.
(3) Values are aligned to the left side of a cell.
(4) Absolute cell address is changed when it is copied to another cell.

- 37. Which one of the following helps to apply specnal cffects fora qhde in P]Prfrnmr
presentation software?
(1) Slide Transition’ (2) Slide Layout 3 Shdg Master (4) Slide Sorter

38. One piece of data about a singie person or thing is"kn(j)\ivh asa
(1) Record (2) Table 3 Fieiq‘ , (4) Data base

39. Which of the following facility/ facilities can be used to enter data into a database?
A-Table B—Query C- Form D-Report
(1) A only (2) A &B only (3)C&Donly (4) A &C only »
40.In programming variables are used to

(1) Give commands (2) Store values
(3) Convert codes (4) Recognize word
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Dévi Balika Vidyalaya — Colombo 08

Information & Communication Technology —II

First Term Test - 2016 _ '

* Answer first qoéstl:oh and four other questionsonly . - '
_* First question-carries 20 marks and each of the other questions carries 10 marks.

iii.

iv.

Vi,

ix.”

1. Wnteshortandexactanswers
B A

‘Write three fields in the society in whlch ICT is used. G;ve an example for each.
State one advantage and orne dlsadvantage of a bus topology over aring

topology

- ‘Which key in the computer keybom is used to get a copy of the sereen?

Nalinda and Malinda have to prepare a book for their Assessment. Nalmda

“usedtheDotmatmpnntm'andMalmdausedthe Inkjetpnntermgetthe
- pnntout. Write your intension/idea about their printouts

Arrange the followmg numbers in ascendmg order.
578, 2Ejs, 65 1000112

'Wnte two dlsadvantages of mobile phones.

A cell phone is reloaded by a recharge card Recharge card number i is

' entered and validated into the mobile phone. itis correct, the money is
,added' to the user’s account. After that, balance of the current’account‘is

informed to the customer. Idpnﬁfv input, process and cutput in this scenario,

Classify the following. software: as exther “System software” or as “Apphcatlon

" software”.

MacOS, Opera, Adobe Photoshop, Limux

Write two examples for analogue devmes _

" Name the follomng devices

2X10=20 Marks
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2.
a A School mamtams an internal computer network It spans all the dxvxsxons of school such

e~ commrastar Inbaratoroe, etafF ronm emmt‘P lal\nmfnrv and hhrm'v ’
Q3 UALIVA, wn.xyuwx QICTY, suitia S, [brary. P

i Wnte down any two advantages thlsschool obtams by using thls netwmk.

i E—mallcanbesmtthmughthlsnetworkmnongteachers Wntedownan »_
advantage by usmgth1ssyste,m ~ Lo g

il Imagine, av1deo confercnce fac;hty 1stobeestabhshedfor smdents ST
where they can view the events taking place within another s;de of the o
* school. Write down two devices for this estabhshment.

iv. - Give one secmtymechamsmto ensmethatamhonzed people canonly
- use this network. . .
b. Answer the followmg question usmg ﬂlc pxcture that ngen below
. Name A,B,C,D,E&F. -
ii. State two dewoesthatcomectwﬂlPortA&ﬂiexr
colours" ‘
jii. - - Which port is usedtooonnoctthe computerto a
" network or to Internet?
iv.  What does USB stand for?

03. The followmg fields from a database table contammg the detalls of members of a _
sporis club. : | _ _ _ _ o
i) Write down smtable data types for each of the followmg ﬁelds
a. Member Number
* Member Name. -
Address. ,
: Subscnptxon for the year.
Male / Female
Date of birth. -

e
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! u) Briefly d@scr!“e the folloy -’vu’lg rexauunal ciaiabase concepts

“a. Data redundancy

‘5. Piiniacy key.

c. Data backup.'

iii) Very rural school in Polonnaruwa was awarded as the b&ct school last year. The
principal sa1d that one of the reasons to the award i is the v1gour and the umty of ICT
club. She further explamed the xmportanoe of pmmtmom and websﬂ:e '

o a. Write 2 points to consider when preparmg presentahon to develop that
o “school.

b. Wntz 2 thmgs that should be mcluded in the school websme

(10 Marks)
04.A football club uses a spread sheet package to handle income generated fmm various
A B C D E | ¥ G | H
1 |Income(Rs.) | JAN | FEB | MAR | APR -MAY | JUN |TOTAL]|
2 | Members 10000 | 15000 [ 17000 | 77500 17000 | 16000 | . -
3 | Advertisement - 20000 | 15000 1 15000 {13000 | 17000 18000
4 ‘| Donation 10000 | 10000 | 15000 5000 - 13000 7000
5 | Sports events 25000 | 35000 | 45500 7500 13400 8355 i.
6 Musical | 44000 34000 43000 | 33500 | 73000 31500 -
events : . s ' v
7 AVERAGE
;) Name two other spreadsheet packages '

1i) Give two suitable chart types to represent income obtained by advertlsement every month,

iii) Write down a suitable function in cell H2 to represent total income obtained
from members in first six months?

iv) Write down a suitable function or formula in celI B7 to represent average mcome
obtained in month of January

- v) Write down a suitable formula in cell H to represent total mcome»obtained in first six -

months

(10 Marks)
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5.i Define the following terms | ‘ - -
" a. Solution space b. Alternative solutions . Algorithms |

. The glven fiow cbart shows detaﬂs of car race_
competltlon. Racers always need to keep their speed

By greaterthan 1001cm/h, and also havetocompletc 50
laps in to win the race. Partmpm who complete the
50 laps will be won the race. Others who couldn’t

wmplete the Iaps will be ehmmated from thg Race,

a. What are the control s(ructmes can be
B 1den11ﬁed in the flow chart?
b Flll the following flow chart accordmg to the
above scenario,
c. Writc a pseudo code for the logxc mdlcated
by ﬂow chart.

6. Wnte short notes for three of followmgs
A, D:sadvantagcs of socxal media .

B Informanon& Commumcatxon Tschnologymhealth sector - : o Lo o |

C. Advantages of compute: games

"

- D5t Generauon‘Computers
" (10 Marks) - -
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